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B X A A E3| A # A il £ K

Hh X 4 5 X i HH 5 X it HH 5 = it HH
il 2 1 13,995 14,552 28,547 13,023 578 673 1,251 840 14,573 15,225 29,798 13,629
= =} 1,424 1,483 2,907 1,159 5 19 24 17 1,429 1,502 2,931 1,164
= = 3,118 3,297 6,415 2,674 64 85 149 113 3,182 3,382 6,564 2,753
F B 1,004 996 2,000 807 5 14 19 15 1,009 1,010 2,019 813
B & & 2,604 2,569 5173 2,040 52 64 116 84 2,656 2,633 5,289 2,103
m H b 3,029 3,074 6,103 2,760 60 90 150 114 3,089 3,164 6,253 2,824
B & b 2,760 2,778 5,538 2,262 44 76 120 110 2,804 2,854 5,658 2,347
= = BT 2,435 2,579 5014 2,200 14 27 41 34 2,449 2,606 5,055 2,209
£ #A 730 827 1,557 739 1 4 5 4 731 831 1,562 740
= it 31,099 32,155 63,254 27,664 823/ 1,052 1875 1,331 31,922 33,207 65,129 28,582
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Hh A = Hh A [ Hh A A Hh A 0
X R | B | % i e B gER | B | & | i e (B gy | 8 | & [ ¢ t#w (B AERR | B | & | 5 |
i X 879 888 1,767 861 E#HLEK 159 164 323 138 HFERKX 292 297 589 245 M—RK 198 223 421 164
W F K | 1,317 1,370 2,687 1,269 . | db #7 X 149 152 301 108 b X 332 310 642 278 N X 178 174 352 144
R T K 229 253 482 261|= HHER 116 140 256 108 = E 5 K 269 283 552 216 & INE=K 281 295 576 229
R X | 1,631 1,749 3,380| 1,451 BARK 341 360 701 269 AERKX 68 67 135 64 IMHERX 655 655 1,310 618
7B X | 1,661 1,790 3,451 1,659 iEH X 475 488 963 382| % hEREX 340 353 693 263| # | iR E X 444 429 873 364
IR X 228 229 457 215|182 EfEHhX 189 198 387 159 TBRERX 402 415 817 285 EFAREK 381 400 781 290
=IO 21 23 44 18 HERERX 246 242 488 191 e 350 328 678 259
¥R K 60 59 119 48 X 5t | 1,429 1,502| 2,931| 1, 164 iy FE#FHERX 395 358 753 304|3& FAREK 234 237 471 211
LRV 14 87 161 67 FREK 137 126 263 109 BERERX 82 80 162 65 TH K 83 113 196 68
FIHTER 153 131 284 119 TREX 118 135 253 112 B ¥ X 230 228 458 192
o X | 1,046 1,109] 2,155 1,036| |miE X | 180 195 375/ 138 i X 5t | 2,804 2,854] 5,658 2, 347
# B 2 K| 1,124 1,175 2,299 1,006 % FXERX 229 253 482 193 #h X 5t | 2,656| 2,633] 5,289| 2,103 =2 = 841 867, 1,708 135
B X 1,108, 1,130 2,238 933 XL X 386 485 871 440 - £ % 322 340 662 291
me R 860 911 1,71 889 FREEX 314 299, 613] 245 ARIFFEEK 275 270| 545] 207 | = 123 114 237 120
LtHFHRK 512 505 1,017 552 hERX 179 170 349 123 & wE X 130 144| 274 122 % iR 318 325 643 328
THHEK 126 148 274 129 TEX 304 336/ 640, 262 PE X 419, 396| 815 348|;z| A 845 960, 1,805 735
L % X 836 883 1,719 7136 LIHFERX 615 676 1,291 512 =] 136 134 270 99
M BFERX 205 192 397 175 & TIIFX| 455 452] 907 420|% H / K 316/ 343| 659, 274 X 51| 2,449| 2,606 5 055 2, 209
E B KX 539 558 1,097 3| FEE K 187 173] 360 135 b ERX 166 179 345 137 JE F WL 78 92 170 73
EN S 469 475 944 423 BEH X 18 82 160 64 5 i X 117 142| 259 120 E B 259 333 592 302
AR KX 410 410 820 326 i KERX | 1,471 1,502] 2,973| 1,463 E 0 183 202 385 152
B X 214 261 475 235 #h X &t | 3,182] 3,382| 6,564| 2, 753 e 7y B 59 54 113 ME EMRN 67 69 136 59
ERAE 38 34 12 30 b B 34 36 70 41
il == 63 67 130 55 B X 280| 259, 539, 218 #h X £t | 3,089] 3,164| 6,253 2,824 N 5 # 76 68 144 68
FORREK 770 788 1,558 653 + FORX 366| 366 732 300 T k2 B 28 30 58 39
TERRX| 212| 241 453 176 H 6 1 Ji 6
#h X 5t |14,57315,225| 29,798/13,629|m |\ F K 151 144 295 119
#h X &t 731 831 1,562 740
# X &+ 1,009 1,010/ 2,019] 813 PRI ThELET |31,922133,207]65, 129 28, 582




